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Stata « .51l ssls 0,5 SV
(g s b Jlo g ablis sl year o id cll> 4 5 wdSl Gy, b L b o0lo)
Data Editor(Edit) ---> Open
Hgiws 5l ooliiwl b l58l a5 a4 b ssls 8,0V
xtset id year
:uf?g)évoAblﬁu>

xtzet id year
panel wvariable: 1id {(strongly balanced)
time wvariable: jpear, 1381 to 1390
delta: 1 unit

:stata 1338105 50 o F 9031y gm0V’

xtreg variables,fe




. ¥treq rcp givdex grow size fp,fe

Fixed-effects (within) regression Muwher of ohs = 1020
Group wariable: id Mumher of groups = 102
B-=q: within = 0.0544 Obs per group: min = 10
hetween = 0_002% avg = 10.0
overall = 0.017% may = 10
Fi4,6914, = 13.15

corriu i, xbh) = -0.1722 Prob = F = 0_00oo
rop Coef. Std. Err. t P=]t| [35% Conf. Interwvall

givdex -10.47109 4857104 -1.4%5 0147 -165._ 7948 24 85262

oY onr -59.717e712 10.70426 -5.5% 0._000 -80.7845 -38._16893

size 25. 66343 8_103322 3.117 0_002 9. 761149 41_5861717

tp 44 21434 20.1415% 2_20 0.02% 4_ 685212 83. 14346

_Cons -156.3M17 113 4836 -1.3% 0.1c2 -379.0934 66_3441

sigma u
sigma e

rho

128 2666
127._07588
50466312

tfraction of wariance due to u 1)

F test that all u_i=0:

Proh = F =

\
0._0000

A



F test that all u i=0:

Fiind,

914

. ¥tregq coc givdex grow size fp, fe
Fixed-effects (within) regression Muamber of obs=s = 1020
Group wariabkle: id MNMumher of groups = 102
B—=¢: within = 0_.0480 Ob=s per group: min = 10
hetwesenn = 0_.011% awg = 10._0
overall = O0_0270 max = 1
Fid4, 914, = 11_52
corriu_ i, Kb = —-0_0172 Frob = F = 0O_000n
oo Coef. 2=d. Err. t P=11t| [95% Conf. Interwvall
givde:x —Z21_5%3023 h8_99684 -0_37 o_7T09 -137_71152 93 _ 719418
T Oty —&0_ 0118 13_001%1 —-&_20 0. 000 -10&_121%9 -55._ 08765
size 16 _ 40102 D 842705 1.&7 0096 —Z2_515507 35711795
fp 47 20408 24 _ 46499 1.93 0._054 —_ 8100039 95 _21%1s
_cons &7 00653 137 843 049 0_627 -203_519 337 _ 532
sigma 1 171. 04649
Sigma = 154 35281
rho 5511677477 (fraction of wariance dus to u i)
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1) xtreg variables,fe
2) estimates store fe
3) xtreg variables,re

4) estimates store re

5) hausman fe re
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chiZ (4}

Prob=chi?

. hausman fe re
—— Coefficients —
(b (B} (b-E) sqrt (diag(V b-V B}
fe re Difference 5. K.
givdex -10.47109 -29.43292 -311. 038117 27.04291
grow =53 M2 -62. 66516 2. 888447 1.1725817
size 25. 66443 19.14224 6. 522137 5.493815
f 44 . 21434 34.35275 9861533 4.390823
b = consistent under Ho and Ha; obtained from xtreg
E = inconsistent under Ha, efficient under Ho; obtained from xtreg
Test: Ho: difference in coefficients not systematic

(h

B} [{V b=V B}*{-1)] {b=E|
22.65
0.0001



hausman fe re

— Coefficients —
(b (B} (b-B] sort (diag(V b-V Bj]
fe re Difference 5.E.
givdex -21.99023 11.30951 -33.2994 30.21323
gr oW -80.60478 -83.69822 3.093441 1.56171
size 16.40102 1206925 43317111 6.2171%4
fp 47.20408 46.77149 4291718 4985558
= consistent under Ho and Ha; obtained from xtreg
B = inconsistent under Ha, efficient under Ho; obtained from xtreg
Test: Ho: difference in coefficients hot systematic

chiz (4]

ProbrchiZ

1.57
0.1087

(b=E} ' [{V b=V E)*{-1}] {b-E}

‘.
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HO: sili sl osls (pool)
H1: Hobai wl il (Random Effects)
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ssc Install xttest3

xttest3 abgrsn st




. 85C 1nstall xttestl
all files already exist and are up to date.

. yttest3

Modified Wald test for groupwise heteroshedasticity
1(f1xed effect regression wodel

HO0: sigma(1)"? = sigma"? for all 1

chiZ 110Z) = 4.det0}
Probechié = 0.0000

checking xttestd consistency and verifying not already installed. ..
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((LR) Gluonl (il 5lg cyg03]

owibylg Slaod 1 ya0 o ,9

xtols y x1 x2 x3 , 1gls panels(heteroskedastic)
est store hetero

xtgls y x1 x2 xJ

est store nohetero

local di=¢(N g)-1

Irtest hetero nohetero df( df')




. 1rtest hetero nohetero , df( df')

Likelihood-ratio test

\ssumption: nohetero nested in hetero)

N

o319 ol 31 homo b @ yEwas i,

LR chiZ (101)=
Prob » chil =

1543.%4
0.0000

Y '3 CQPewe RV Y WA | I LR Y) X TVX X Fom)|
G Ao 98,55 L &l gine

ity (At =homoscedasticity

r

55;,;44”




. Irtest hetero nohetero  df('df')

Likelthood-ratlo test

[ssuuption: nohetero hested 1 hetero)

LB chiZ(101)=
Prob = chif =

160201
0.0000
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. xtgerial rcp givdex grow size fp

Mooldridge test for autocorrelation in panel data
HO: no first order autocorrelation
Fi 1, 101) = 43 758
Prob = F 00000




xtserial ccc givdex grow size fp

Mooldridge test for autocorrelation in panel data
HO: no first order autocorrelation
Fi 1, 101) = 26. 922
Prob = F = 0.0000
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xtglsvariables, panels(heteroskedastic) corr(arl)




t Jol and 9 ool s

xtgls ryop givdex grow size fp, panels{(heteroskedastic) corri{arl)
Cross—-sectiohnal time-series FGLE regression
Coefficients: generalized least squares
Panels: heteroskedastic
Correlation: commmon AR(1) coefficient for all panelz (0. 75311)
Estimated cowvariances = 102 Mumber of ohs = 1020
Estimated sutocorrelations = 1 Mumber of groups = 102
Ezstimated coefficients = 5 Time periods = 10
WMald chiz(4) = 6628
Prob » chiZ = 00000
rop Coef. Std. Err. = P=l=| [35% Conf. Interwall]
givdex 2_Tec0bh4 14 40736 0.1%9 0D_348 -25_ 47185 31_0039%6
(s pfulng -31.33973 4. 142563 -7.57 0._000 -392._459%01 -23_22046
size T.292938 2 606436 Z2_80 0._005 2_ 184417 12 40146
i a] -6_ 802362 10. 06699 -0.68 0_499 -26._53329 12_ 92857
_cons 38_. 46601 33.52533 1.15 0251 -27.24244 104 _ 1745
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xtgls cococ givdex grow size fp, panels{heteroskedastic) corri{arl)

Cross—-sectional time-series FCLE regression

Coefficients: generalized least sgquares

Panels=: heteroskedastic

Correlation: common AR(1l) coefficient for all panels (0. 7396
Eztimated cowariances = 102 Nunher of obs=s = 1020
Estimated autocorrelations = 1 Mumber of groups = 102
Ezstimatred coefficients = 5 Time periods = 10
WMald chizi(4) = 112 . 69
Prob =» chiZ = 0. 0000
oo Coef. ctd. Err. = P=|=| [?5% Conf. Interwval]
givdex 30_72801 21_30263 144 0149 -11. 02437 72 48039
¥ OTr -650.50648 5. 805185 -10_42 0. 000 -11. 88443 -49_ 12852
size 1.2906%6 3.71371073 0._35 0_730 -65._ 033832 g 615224
1 275271711 13_ 82399 1.99 0.016 .2331767 54 62223
_Cons 217_597 48 _ 74896 4 46 0. 000 122_050%8 313.1432
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